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int piezoPin = §;

void setup()

tone(piezoPin, 465, 100); // \da4la
delay(500); // 1241381 0.5 U
tone(piezoPin, 519, 100); // L8413
delay(500); // 1241381 0.5 U
tone(piezoPin, 572, 100); // \&#9il
delay(500); // %u24t781 0.5 U9
tone(piezoPin, 625, 100); // |9
delay(500); // %129t781 0.5 U9




}

tone(piezoPin, 694, 100); // \du9%a8
delay(500); // %u294781 0.5 U9
tone(piezoPin, 763, 100); // ILNGR
delay(500); // %1244381 0.5 U
tone(piezoPin, 816, 100); // |89
delay(500); // %1294781 0.5 U9

void loop ()

{
}




Text

int piezoPin = B;
void setup() |
tone (piezoPin,
delay(300); //
tone (piezoPin,
delay(500); //
tone (piezoPin,
delay(300); //
tone (piezoPin,
delay(500); //
tone (piezoPin,
delay(300); //
tone (piezoPin,
delay(500); //
tone (piezoPin,
delay(300); //

o [ L Y S 'S T Y

-
8
g

}
void loep () {

}

Code p Start Simulation

3 8 %

465, 100); // \dedlm
WUMLIAT 0.5 TUIT
518, 100); // LawBdls
WUMLA1 0.5 E'amf]
572, 100); // \daedl
WUWLIAT 0.5 TUIT
§25, 100); // \adsavh
WUMLA1 0.5 E'amf]
684, 100); // dasvaa
WMLAT 0.5 Ju
763, 100); // \dBaan
WHuMLA1 0.5 E'amf]
g16, 100); // \aHV
WMLET 0.5 Tu
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